No. ELDD/3651

SMM/AMM 3- Phase
CLWICRJ

P —

[ I |

Sub: Issue of Category Amendment for three phase loco.

Page 1 of 1

=N T A0 ITAa=aa9 == TrIFarar

AMENDMENT NO: - E240
DATE: 03.01.2024

Category Amendment is issued as follows for information and necessary action please. Category Amendment will be applicabl'é as per given remarks.

REQ.
REQ.
W [CATEOORY | prio. | caone. DESCRIPTION SPECIFICATION |y VYA OO i ) REMARKS
NO. NO. NO. WAG-9HC/ WAP-5
WAP-7
i. Description of the item has been changed from
“MAIN TRANSFORMER 6531 KVA TYPE ABB
LOT 6500 OR SIMILAR FOR WAG-9 LOCO AS
MAIN TRANSFORMER PER SPECN. NO. CLW/ES/3/0456/J OR
6531 KVA TYPE ABB LATEST, CLW/ES/3/0507 OR LATEST (FOR
LOT 6500 OR SIMILAR TRANSFORMER TANK) AND CLW/ES/3/0508
FOR WAG-9 LOCO AS OR LATEST (FOR CONSERVATOR TANK)”
PER SPECN. NO. to
CLWIES/3/0456/J OR “MAIN TRANSFORMER 6531 KVA TYPE ABB
LATEST, CLW/ES/3/0507 LOT 6500 OR SIMILAR FOR WAG-9 LOCO AS
OR LATEST (FOR PER SPECN. NO. CLW/ES/3/0456/J OR
1 P/0/0006 | 29731008 [T011/001| TRANSFORMER TANK) CLWIES/3/0456/J| 01 | 1.00/NIL NIL LATEST, CLW/ES/3/0507 OR LATEST (FOR
AND CLWI/ES/3/0508 OR TRANSFORMER TANK) AND CLW/ES/3/0508
LATEST (FOR OR LATEST (FOR CONSERVATOR TANK)
CONSERVATOR TANK) WITH 350 LITERS OIL SEPARATELY
WITH 350 LITERS OIL PROVIDED FOR FILLING UP OIL PIPES AND
SEPARATELY OTHER ACCESSORIES”.
PROVIDED FOR FILLING
UP OIL PIPES AND ii. This amendment has been done as per
OTHER ACCESSORIES. category modification advice letter no. ELDD/3254
Dated 03.01.2024 and it is applicable for further
procurement from the date of issue of this
amendment.
COPY TO:
1. FA&CAO(S) - [He is requested to accord Q.V. for the changes incorporated above] 2.CEE/LOCO 3. Dy.CMM/DEPOT 4. Dy.CMM (HQ)/CRJ

5. Dy.CMM-I/KOL

0357 0124

(SSE/Drg.)

Prepared by

6. Dy.CEE/LOCO

7. SSE/Shop-19/ Progress

(g;.) T2y

Checked by




No. ELDD/3651

SMM/AMM 3- Phase
CLWICRJ

Sub: Issue of Category Amendment for three phase loco.

Page 1 of 4

AMENDMENT NO: - E241
DATE: 24.01.2024

Category Amendment is issued as follows for information and necessary action please. Category Amendment will be applicable as per given remarks.

SL.
NO.

CATEGORY
NO.

P.L.NO.

C&D NO.

DESCRIPTION

SPECIFICATION
NO.

UNIT

REQ.

QTY/LOCO,

WAG-9HC/
WAP-7

REQ.

WAP-5

QTY/LOCO|

REMARKS

N/0/0007

29610035

T032/003

BUZZER OVERSPEED / FIRE
ALARM / VIGILANCE
WARNING

CLWIES/3/0078/C

01

2.00

2.00

i. Alteration No. of the Tender Specification
of the items mentioned at SI. No. 1 has been
changed from ‘B’ to ‘C".

ii. This amendment has been done as per
category modification advice no.
ELDD/3220/Specification Revision/Pt Dated
24.01.2024 and it is applicable with
immediate effect for further procurement.

N/0/0010

29960022

T019/009

CONTACTOR FILTER ON/OFF
& ADAPTION (CONTACTOR
TYPE-1)

CLWI/ES/3/0086/C

01

2.00

2.00

i. Alteration No. of the Tender Specification
of the items mentioned at SI. No. 2 has been
changed from ‘B’ to ‘C".

ii. This amendment has been done as per
category modification advice no.
ELDD/3220/Specification Revision/Pt Dated
24.01.2024 and it is applicable with
immediate effect for further procurement.

ik ;'154,01.44

(SSE/Drg.)
Prepared by

Checked by

W

,\ 9/(
g1 7

2 ‘

(Dy/ CEE/D-II)
Issued by




Page 2 of 4

AMENDMENT NO: - E241
DATE: 24.01.2024

REQ.
REQ.
SLICHIFGI | sano. |caome DESCRIPTION SPECIRCATINNG | b YO v ool REMARKS
NO.|  NO. NO. wag-sHc/(d] FEOS
WAP-7 :
C PANEL KIT ACCORDING TO

SPECIFICATION NO.
CLWIES/3/0240/B WITH SET
DETAILS AS PER
FOLLOWING SCOPE OF

3 P/0/0282 29171416 | T022/202 CLWIES/3/0240/B | 03 | 1.00/NIL NIL

SUPPLY
i. Alteration No. of the Tender Specification
of the part item of C panel kit mentioned at
Sl. No. 3.1 has been changed from ‘B’ to ‘C’.
All other part item of C Panel kit will remain

BUZZER OVERSPEED / FIRE same.

3.1 T032/003 | ALARM /VIGILANCE CLW/ES/3/0078/C 01 | 2.00/NIL NIL
WARNING(BZ-V-OF) ii. This amendment has been done as per

category modification advice no.
ELDD/3220/Specification Revision/Pt Dated
24.01.2024 and it is applicable with
immediate effect for further procurement.

SPRING LOADED SWITCH
3.2 T032/007 | FOR HEAD LIGHT CLWI/ES/3/0075/B 01 | 2.00/NIL NIL
INTENSITY(ZPRD)

SPRING LOADED SWITCH

33 TORM0A | Cog L a0 LI SBLPR) CLW/ES/3/0075/8 | 01 | 200MNIL |  NIL
SPRING LOADED SWITCH - 2

3.4 g B gty il CLWI/ES/3/0075/8 | 01 [10.00/NIL|  NIL
ILLUMINATED PUSH BUTTON

35 T032/006 | EMERGENCY FLASHER CLWI/ES/3/0072/G | 01 | 2.00NIL |  NIL
LIGHT(BPFL)
ILLUMINATED PUSH BUTTON

36 T032/002 | FOR FAILURE CLWI/ES/3/0072/G | 01 | 200MNIL |  NIL
ACKNOWLEDGE(BPFA)
ILLUMINATED PUSH BUTTON

37 G Beiompian CLW/ES/3/0072/G | 01 | 2.00NIL | ~ NIL

138 e p ) e b i CLWIES/3/0119/F | 01 | 400NIL | NI

(TYPE-4)

<ss%4v0["2? (SSEIOTGT IR 12 Y

Prepared by Checked by




Page 3 of 4

AMENDMENT NO: - E241
DATE: 24.01.2024

REQ.
REQ.
BL- {GRTRCORY | site. | csowe. DESCRIPTION SPECIFICATION |, QTYILOCOl, 1y, oo REMARKS
NO.| NO. NO. WAG-9HC/ | LOS
WAP-7
39 T032/020 | BRACKET (TYPE-2) CLWIES/30121/H | 01 | 200MIL |  NIL
CONNECTOR ST .35P/40
BU"N'IR KABELH/ PLUG
3.10 T032/058 | 25P/40 SKT 'N' CLWI/ES/3/0124/0 | 01 | 2.00MNIL |  NIL
INDOOR(COMPLETE
CONNECTOR)
3.11 T035/421 | DISTANCE BOLT M5x80 CLWI/ES/3/0184 Al-F | 01 | 6.00NIL |  NIL
3.12 T023/092 | CABLE SLEEVE 1.5-12 CLW/ES/3/0205/F | 01 |36.00MNIL| NIL
3.13 T023/095 | FASTONLUG 63X 0.8 CUISN | CLWES/3/0643/C | 01 |36.00/NIL| NI
3.14 T023/073 | CABLE TIE 92 X 2.4 PA CLWIES/3/0131/D | 01 |2000/NIL|  NIL
3.15 T023/100 | CABLE TIE 140 X 3.6 PA CLWI/ES/3/0131/D | 01 |46.00NIL|  NIL
3.16 T023/068 | CABLE TIE 186 X 4.8 PA CLW/ES/3/0131/D | 01 |50.00NIL|  NIL
3.17 T023/166 | CONTACT PIN 12/1.5 CLW/ES/3/0124/0 | 01 |70.00MiL| NI
RATING PLATES
3.18 T | e CLWIES/3/0252/H | 01 | 2.00MIL | NIL
RUBBER RIBON / BAND
3.19 e | LU R CLWIES/30151/F | 22 | 31amiL | NIL
3.20 T021/221 | SHRINKDOWN SLV DTMS 316 | CLW/ES/3/0154/R | 01 |164.00NIL|  NIL
321 T0231160 | CAB 4 GKW-AX 1.5 1800V BK | CLW/ES/3/0458/E | 22 | 31.2NIL | NIL
3.22 T035/231 | CS-SCR M5 X 10 ST. BLACK CLWIES/3/0181/A | 01 |2000MIL |  NIL

(SSMQ%O/ .4

Prepared by

(sgg)%.)%i LYy

Checked by

5 -l
Issued by




Page 4 of 4

AMENDMENT NO: - E241
- DATE: 24.01.2024

REQ.
s(")'_ CATES_ORY P.LNO. | C&D NO. DESCRIPTION SPEC':'OC.AT'ON UNIT a;vé'flfg QTV?E.;;:O REMARKS
WAP-7

3.23 T035/229 | CS-SCR. M4 X 8 ST CLW/ES/3/0181/A | 01 [28.00/NIL| NIL

3.24 Tl | ZUCEEO RS CLWIES/3/0181/A | 01 |12.00/NIL| NIL

3.25 T035/234 | CR-PH SCR. M4 X 8 SST CLW/MS/3/040 At 13 | 01 | 6.00/NIL |  NIL

3.26 T035/265 | CR-PHSCREWMS X 12SST | CLW/MS/3/040 Alt13 | 01 | 12.00NIL|  NIL

3.27 0351106 | HEX NUT 0.8 D M5 SST CLWIMS/3/040 A 13 | 01 | 12.00NIL |  NIL

3.28 T035/370 | HT SPRING WASHER 4 SST | CLW/ES/3/0187AItM | 01 [22.00NIL |  NIL

3.29 T035/105 | HEX NUT 0.8 D M4 SST CLW/MS/3/040 Alt13 | 01 | 16.00/NIL |  NIL

3.30 T033/073 | CONTACT SOCKET 16/1.5 CLWIES/3/0124/0 | 01 | 6.00NIL | NIL

3.31 T031/069 | CONTACT PIN 16/1.5 CLWIES/3/0124/0 | 01 | 6.00NIL | NIL

3.32 T023/096 | JOINTING SLEEV 6.3 X 0.8 CLW/ES/3/0643/C | 01 | 8.00NIL | NIL

3.33 To31/208 | SHRINKDOWNSLEEVEGAX | clwies/zio154R | 22 [ 10.00NIL | NIL

3.34 T030/986 | CAB - 3GKW- 0.5 FLEX RED CLWIES/3/0458/E | 22 |04.00NIL| NI

335 T031/141 | CABLE SLEEVE 1.5-8.0 CLWI/ES/3/0205/F | 01 |36.00/NIL| NIL

3.36 T023/084 | CABLE LUG 1.5-2.57 M5 CLWES/3/0130/N | 01 | 2.00MNIL |  NIL

3.37 T023/097 | CABLE TIE 360 X 4.8 PA CLWIES/3/0131/D | 01 |25.00NIL|  NIL

coPY TO:

1. FA&CAO(S) - [He is requested to accord Q.V. for the changes incorporated above] 2.CEE/LOCO 3. Dy.CMM/DEPOT 4. Dy.CMM (HQ)/CRJ

5. Dy.CMM-I/KOL

6. Dy.CEE/LOCO

(5%40/ > ‘24

Prepared by

7. SSE/Shop-19/ Progress

(Sﬁ)(r;. q-24

Checked by

(y, E%g“:(%‘\

ssued b




